

225)

$$4 + 21 \div 7 + (((7 \times 0) + 7)) - (7 \times 9 - 56) - 3 =$$

226)

$$56 - 53 - (((79 - 3) \times 0)) \div (((5 \div 1 + 5))) \div 69 \div 10 =$$

227)

$$(((4 \times 5) \div 5)) + 38 + 48 - (((0 \div 7) \div (4 \div 4))) + 5 =$$

228)

$$(((40 \div 4) - 3)) \times (((0 \div 5) \div 3) \div 10) \div 48 + 1 \times 9 =$$

229)

$$((24 - 8) + 42) - 3 \times 5 - (((1 \times 6 \div 6))) + 10 \times 2 =$$

230)

$$((95 - 13 \times 1 \times 3) - 51) \div (41 - 36) \times (((8 \div 1 \div 4))) =$$

231)

$$(12 \div 6) \times (99 - 0 - 88 - 4) \times (((0 \div 10) \div 70) + 3) =$$

232)

$$(((1 \times 0 \div 51))) + 6 - 0 \div 80 \div (9 \times 8) \div (72 - 65) =$$